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Time : 1 Hour 15 Minutes Full Marks : 50
22 _ 22
ns?gﬁ?l/7 g (Take m= 7)

@ QU616 80 5 O PIUQINEG | 9664% 94 Ol LIRS §0F Q88 PAIRNE |
692 7189 OR Raxs 918 OMR Qe Ta6a g¢/ A48 9ady
@R/ IR Om ONG @ QIe) AGTa6e @R @6
In this Part 50 questions are given. Each question has four alternative
answers. Choose the correct answer from them and darken the
appropriate circle completely in the OMR Sheet with
the Blue/Black ball point pen.

g664e g0 gmi 1 866" |
Each question carries 1 mark.
Q93 9490 AR 7 |
Answer all questions.

1. 9x+y+12=048" 18x + ky + 24 = 0 Q2 AA1098 QL AFe 8 PR
626m k @ 7119 6966 ?

If the simultaneous equations 9x+y+12=0and 18x +ky + 24 =0 are
consistent and dependent, then what is the value of k ?

(A) —1 (B) +1
(C) +2 (D) -2
2. Q99 80RIeQ Y 6960 ?

What is the value of the following determinant ?

2 -1

3 2
(A) 7 (B) -7
(C) 4 (D) -4

QT @< 219 (SPACE FOR ROUGH WORK)
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SET: |A

3. 3x+4y=10062x -2y = 3 92 491204 QT JORER JIIR1EQ AR @A
dIR @8 @QQ ?
What is to be done for solving the simultaneous equations 3x + 4y =10
and 2x — 2y = 3 by the method of substitution ?
(A) 926 AREQ 2 QIxl G Qo199 3 QA YIR AR
Multiply the first equation by 2 and the second one by 3
(B) Qa98g X Q gnd Ada @R LE1956Q 6AYQ
Determine the value of x from the first one and write it in the second
one
(C) Q019 AVRASIQ oI FEAIG QR
Subtract the second one from the first one
(D) Qo9 AMRadq ddIaQ
Add both the equations together
4. x+y=006x-y=09d2 AN QU FIT SR F6M 604 2G6Q JAIAG 68
@ACQ ?
What is the point of intersection of the simultaneous equations x +y =0
and x—y =0 on a graph paper ?
(A) (0, 1) (B) (1,0)
C) (1,1 (D) (0,0)

5. 605N Q@IS ANRAEQ RQAQ AAE G QEITR QaIQeet 4 @ —% | ARASIT
6@6Q ?

The sum and product of the roots of a quadratic equation are 4 and —%
respectively. What is the equation ?

(A) 2x2+8x+5=0 (B) 2x>—8x+5=0
(C) 2x2+8x—-5=0 (D) 2x>°-8x-5=0
QT @< 219 (SPACE FOR ROUGH WORK)

AR-15/P-1/ MTH 3 P.T.O.
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SET: (A

6. Jx+X=6g e QqIe ANKASER IRI9 Q6M 660 629 ?

Whatis +/x +x =6 when expressed as a quadratic equation ?
(A) x*—13x+36=0 (B) x*+13x+36=0
(C) x2+12x+36=0 (D) x2-12x+36=0

7. 2x% + kx + 3 = 0 Q919946Q kQ €Ie 6260 626M % Qa6 QU2 8 AR
W6 ?

What should be the value of k show that the roots of the equation 2x? + kx
+ 3 =0arereal and equal ?

(A) 46 ®) 26
©) & o 2

8. 6QlIgN IS 999 6444 gL0Ig 8 62.8. 9@ 8 LIQ 6IGTR 240 Q4 62.4. |
290 999 69aY 8 g9 Q4o 9AQl IRl 767D AARAE FAIQ 68 JYSY ?

The length of a rectangle is greater than its breadth by 8 cm and its area
is 240 sq. cm. Which of the following equations is applicable to find its

sides ?
(A) X2 + 16x = 240 (B) 2x%2 —8x =240
(C) 2x2 + 16x =480 (D) 2x2 + 8x =480

9. JURYe Qe g 6RRG AR JOIea AIT ?

Which one of the following series is not in Arithmetic progression ?

12 3 4
(A) 1,2,3,4,5, .. B) 333 3
(C) 1.1,2.3,3.5,4.7, ... (D) -3,-1,0,2,4, ...

QT @< 219 (SPACE FOR ROUGH WORK)
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Created by Neevia docuPrinter trial version



SET: |A

10. 69T QAILA Y9IPQ YT 99 —3 8 ARJIIQE 22 2 626/, YRR gaF 118
JQQ AT 660G ?

The first term of an arithmetic progression is —3 and common
difference is 2. What is the sum of its first 11 terms ?

(A) 154 (B) 77
(C) 44 (D) 20
11. (a+b),x 6 (a—b)A.P.6a g6a x Q €lle 6966 ?
If (@ +b),xand (a—b) are in A.P. What is the value of x ?
(A) 2a (B) a
(C) b (D) 2b

12. QLA YIIGEQ &Rl 6615 QA FeIF 9@ 4 8 661F 9@ 76 | 86Q GealS
AR 26, YOIL FIINT 6R6S ?

The first term of a series in arithmetic progression is 4 and last term is
76. In between them there are three arithmetic means. What is the
second arithmetic mean ?

(A) 18 (B) 22
(C) 36 (D) 40

13. 691G QI 30 aQ 69 98<Iq ‘H' 6963 2a 2IdRl ‘T’ QIa QRgé 2 IR |
P(T) Q g4 6@66 ?

A coin was tossed 30 times. The number of times ‘T’ appeared was twice
the number of times ‘H’ appeared. What is the value of P(T) ?

(A) 20 (B) 10
c) 2 D) o
€) 3 D) 3

QT @< 219 (SPACE FOR ROUGH WORK)

AR-15/P-1/ MTH 5 P.T.O.
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SET: (A

14. 64615 @916Q 5G @6l dad, 36 25 9ad 8 45 AoI6 dad 28 | 6289 Y9!
69N QI QOIFIEM 641N Q16 AT AIRARIQ ARSI 6R6D ?

There are 5, 10 paise coins, 3, 25 paise coins and 4, 50 paise coinsin a
box. If one of these coins is lifted at random, then what is the probability
of getting a 50 paise coin ?

1
A (B)

Wl=a o=

1
©) (D)

15. 665N REEQITq 26Q 92! ARl | 99 E Q€I ‘O 9@ g9 °HI’Q eIy,
6069 E 9945 Q5919 ARG 6R60 ?

A ludo die was thrown once. If the event E indicates “result is an even
number” then what is the probability of occurrence of the event E ?

1

A) 5 (B)
1
5 (D)

16. 695N RGETITY YRR AFIRCLIGRI | QI QIR A°HYI YRTA 6UIFNTR 6 AR
ARG K66 ?

WIN W=

A ludo die was thrown twice. What is the probability of getting the sum of
the numbersas 6 ?

A > B 2
(A) 6 (B) 3
1 5
(C) 9 (D) 36
QT @< 219 (SPACE FOR ROUGH WORK)
AR-15/P-1/ MTH 6 Contd.
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SET: |A

17. 8,5,6,7, X8 4 QRISAISEA AIRIAIR 6.5 626M X Q €1l9 660 ?

If the mean of the scores 8, 5, 6, 7, x and 4 is 6.5, then what is the value
of x ?

(A) 9 (B) 10
(C) 11 (D) 12
18. gaga 103 Q1618 Q°HIQ L, gaa 9% QEIe A°HIQ AAN0IQ 6RES 6Q6I1 ?

By how much the median of the first 10 counting numbers is greater than
the median of the first 9 counting numbers ?

(A) O (B) 05
(C) 1 (D) 15
19. Q09 FRIQ 6R9% JRER A¢a AAQ! AR O] 99 ?

Which one of the following is the correct formula for finding mode ?

Al + 1Al
(A) 9Q]@ =
2
Mode = Mean +2Med|an

(B) 9Q€e =2 el — 3 QAR
Mode =2 Median —3 Mean
(C) 9Q€@ =3 Al — 2 QIR
Mode = 3 Median —2 Mean
(D) 90@a =2 (Qel — AIRIAIR)
Mode = 2 (Median —Mean)

QT @< 219 (SPACE FOR ROUGH WORK)
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SET: (A

20. Q9 REFFIFEA OIS 6966 ?
What is the mode of the following scores ?
56,7,7,8,9,9,9,10, 10, 11,12, 12,12
(A) 0@ @@ (No mode)
(B) 9
(C) 12
(D) @@ 9812 (Both 9and 12)

21, Xy Xy, Xy o X, QARAITMEES | Y (x,-5)=60 €@ ' (x,~8)=24 6268,
i=1

n
i=1 i=

NQ e 660 ?

n
The mean of the scores Xgs Xoy Xgy ey X is M. If Z(xi_s)zao and
i=1

n
) (x;—8)=24, then what s the value of n ?
i=1

(A) 5 (B) 8
(C) 10 (D) 12

22. Q@G @Q A 8 BQ QIQle QaIg6s (=1, -2) 6 (5, —2) | 6719w F1:I6Q 90!
6R60 ?

The co-ordinates of two points A and B are (-1, —2) and (5, —2)
respectively. What is the distance between them ?

(A) 6 (B) 42
(C) 4 (D) 3.2

QT @< 219 (SPACE FOR ROUGH WORK)
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23.

24,

25.

SET: |A

AABCQ A, B 8 C @gieaa 2I9Ie 9219691 (1, 2), (2,4) 6 (3,5) | AD 9«
el 626m D 999 QIRIE 6@6Q ?
The co-ordinates of the points A, B, C of the AABC are (1, 2), (2,4) and

(3, 5) respectively. If AD is a median then what is the co-ordinates of the
pointD ?

(A) (5,9) (B) (2.5,4.5)

(C) (1.5,3) (D) (2,3.5)

661G 6QFIHEQ F11SQA QIR (0, 0) | YLIQ IR 9I[LQ QIeia (2, 3) | 2y
JI2e9Q ARl 6963 ?

The co-ordinates of the mid-point of a line-segment is (0, 0). The co-
ordinates of one of the end-pointis (2, 3). What is the co-ordinates of the
other end-point ?

(A) (=3,-2) (B) (-2,-3)

(C) 23) (D) 3,2)

(2,10), (2, 5) 6 (a, —2) YLQA I? AARCATIEQ ARFG | a Q AR 6Q6G ?
The three points (2, 10), (2, 5) and (a, —2) are in one straight line. What
is the value ofa ?

(A) O (B) 2
C) 3 (D) -2
A . 4
26. A QR 9Q6Q PQ || BC |AP=7AB, QC=1.8cm |
AC @ 6064 6060 6Q.41. ?
P Q _ 4
In the given figure PQ || BC . AP = 7 AB,QC=1.8
B C cm. Whatis the length of AC incm?
(A) 24 (B) 3.6
(C) 42 (D) 54
QT @< 219 (SPACE FOR ROUGH WORK)
AR-15/P-1/MTH 9 P.T.O.
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B D
(A) AC:AB
(C) BD:AC

28.

(A) 70°
(C) 90°

29. 4

SET: (A

R 096 mZBAD=mZCAD | AABD 8 AACD@
6AQYTRA QP RIL| A6 AR ?

In the given figure m ZBAD =m £ CAD. Ratio of the
areas of the AABD and AACD is equal to which
one of the following ?

(B) AB:DC
(D) AB:AC

R cesa APQR~ AQRS Im£ZPQR=50°, m£ZQSR
=100° | mMZLPRS = 6260 ?

In the given figure APQR ~ AQRS. mZPQR =50°,
mZQSR =100°. What is the measure of ZPRS ?

(B) 80°
(D) 100°

QR 096a XY ||[BC B AX: XB=2:31 AAXY @
SId@a XYCB Q 689U 2o 6069 ?

In the given figure XY || BC and AX : XB =2: 3.
What is the ratio of the areas of A AXY and trape-
Zium XYCB ?

4

(B) 23

2
(D) 3

QT @< 219 (SPACE FOR ROUGH WORK)

AR-15/P-1/MTH

10 Contd.
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SET: |A

30. AABC6a mZA=90°9e° AD L BC I BD =264.8. 8 BC = 8 64.7.
626m, AB = 6@60 62.41. ?

In AABC, mZA = 90° and AD L BC. If BD =2 cm and BC = 8 cm,

then what is the length of AB incm ?

(A) 243 (B) 32

C) 4 (D) 443
31. 60N 6QHIHE AR 69600 BQ MR 6TRAARR ?

A line segment can be a radius of how many circles in the maxium ?

(A) 1 (B) 2
C) 3 (D) 4
32. A Q@ 5g6Q O 9@ 695 8 MAEB =100° Im«£BDC =

H
E
ﬂk D 6R60 ?
B ‘W In the given figure O is the centre and mAEB =
F
C

100°. What is the measure of £ZBDC ?

(A) 40° (B) 50°
(C) 60° (D) 80°

33. 640IIGN 991 FLQYFR Y6LIR QL NI FRRA AQYOIER AR RQRI 6RISIQ
AQCNS 6R6G ?

What is the measure of the angle subtended by each side of a regular
hexagon at the circumference of its circum-circle ?

(A) 120° (B) 90°
(C) 60° (D) 30°
QT @< 219 (SPACE FOR ROUGH WORK)

AR-15/P-1/ MTH 11 P.T.O.
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SET: (A

34. 601G 98Q IR I AR 6996a 90° 6718 QR A6Q | YA MIAIT 3 FYIQ
6GaiQ 21QUIG 6063 ?

A chord of a circle subtends a right angle at its centre. What is the ratio
of the lengths of the radius of the circle and the chord ?
(A) 2:1 B) 1:2
(C) V2 :1 (D) 1:+2
35. QG 9894 QR 96 AR 6R6HIT AR AR LTS FAULIRAIRR ?

In the maximum how many common tangents can be drawn to two
externally tangent circles ?

(A) 1 (B) 2
(C) 3 (D) 4
36. QR 996@ O 98Q 699 I9° BA 94@ ¢€ | mLACB =
. 110° 626m, m L CAB = 6@60 ?
B Inthe given figure O is the centre of the circle and
A BA is a tangent-segment. If m ZACB = 110°, what
is the measure of ZCAB ?
(A) 20° (B) 30°
(C) 55° (D) 70°
37. C Q9@ 9862 O 9@Q 699 | OA ||BC ¥e° OC || AB
5 / 626m, mZC = 6960 ?
\' In the given figure O is the centre of the circle. If
A OA || BC and OC || AB, then what is the measure
of LC?
(A) 30° (B) 40°
(C) 50° (D) 60°
QT @< 219 (SPACE FOR ROUGH WORK)
AR-15/P-1/MTH 12 Contd.
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SET: |A

38. Q@ 986 OA=862.4., OP =17 6Q.91. 1 O Q&% 601
A 626R, P 999 9@ U0 ARG 6@ IJ9Q 670y @66
6Q.8. ?

o——"

P Inthe given figure OA=8cm,OP =17cm. IfO is
the centre of the circle then what is the length of the
tangent segment drawn from P to the circle incm ?

(A) 8 (B) 15
(C) 17 (D) 25
39. A QR 5969 PA 6 PB 299 ¢1& | mZPAB = 6060 ?

‘WV In the given figure PA and PB are tangent-
B

segments. What is the measure of ZPAB ?
(A) 40° (B) 50°
(C) 65° (D) 75°

40. QA% 989 JAIQ 2SQ 88 64.9. B ATIAFA AT QU AAT 78 6.7, |
Q2RQ A IAIE 6260 6.8, ?
The difference of the circumferences of two circles is 88 cm and the sum
of their radii is 78 cm. What is the radius of the bigger circle incm ?
(A) 92 (B) 83
(C) 46 (D) 32

41. QA% I9-6aRe 9Re Y LalIgee 32 62.781. 6 18 64.9.. | 2QXA A0 22T
PR QTR 6NCS Q9 62.4. ?
The diameters of two concentric circles are 32 cm and 18 cm. What is
the area of the space included by their circumferences in sq. cm ?
(A) 550 (B) 1100
(C) 1650 (D) 2200

QT @< 219 (SPACE FOR ROUGH WORK)

AR-15/P-1/ MTH 13 P.T.O.

Created by Neevia docuPrinter trial version



SET: (A

42. 66N GO 9F1 9K ATERIEN AARAIL GYR | 92Ia *¢la 65l 8+/2 6a.4. |
Jera @@al 10 62.91. 626R, 1A 2IKER 6966 AR 64.4. ?
The base of a prism is a right angled isosceles triangle whose
hypotenuse is 82 cm. If the height of the prism is 10 cm, what is the
volume in cubiccm ?

(A) 1280 (B) 640./2
(C) 640 (D) 320

43. 665N 6199 ARSI 605N ARAAQ ARG A6F ATIR I° 6ATIREFR AR
ATIR | 6R19Q I 6 IREAQ QAR UG 6R6S ?

The height of a cone is equal to the height of a cylinder and their volumes
are equal. What is the ratio of the diameters of the cone and cylinder ?

(A) 243 :1 (B) 3 :1

(C) 1:43 (D) 1:243
44. @L@@ AU LY JIORNQ AT ABR 1050 @9 62.9. | 6QCIAEQ QLR
6aaia 2QUIG 4 : 3 626M, YLAA ATURA AR 6TAY 6@66 62.8. ?

The difference of the total surface areas of two cubes is 1050 sqg. cm.
The ratio of the lengths of their sides is 4 : 3. What is the length of the
side of the bigger cube incm ?
(A) 15 (B) 20
(C) 10 (D) 7.5

45. 691G\ 6TINRQA 2IAGR 600 A9 62.51. GITIQ YIGRR CAFTR 630 99! 6241,
626, 69INAQ QYA 6R6G 6Q.4. ?

The volume of a sphere in cubic cm is equal to its surface area in square
cm. What is the diameter of the sphere incm ?

(A) 8 (B) 6
(C) 4 (D) 3

QT @< 219 (SPACE FOR ROUGH WORK)
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46.

47.

48.

49.

50.

SET :

12
SinA = 13 626M, COtAQ AR 6@6G ?

12
If sSinA= ﬁ what is the value of cotA ?
5 5 12
12 (B)

5 17
3 D) 3
sin120° +tan 150°-cos 135° Q €lIR 6Q66 ?

What is the value of sin120° + tan 150°-cos 135° ?

243 2.3
A 34z ® 52

3-2 3+4/2
(C) o3 (D) PN
sec?(90° + 0) — cot?(180° — 0)Q IR Q6% ?
What is the value of sec?(90° + 6) — cot?(180° — 0) ?
(A) O (B) 1
1

(C) -1 D) -3

(A)

(C)

tanA =% @ cotB = 3 626, A+ BQ 7@ 6966 ?

IftanA = % and cotB = 3, what is the value of A+ B ?

(A) 120° (B) 60°

(C) 45° (D) 30°

tan1° x tan2° x tan3° x ... x tan88° x tan89° = 6a6e ?
tan1° x tan2° x tan3° x ... x tan88° x tan89° = How much ?

1
A 7 ®) 1
© 3 D) -1

QT @< 219 (SPACE FOR ROUGH WORK)
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2662 Qal (e AIR)
ADDITIONAL PAGE FOR ROUGH
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